ER29FE YEHRERB DREES
R4 B4 WaE
HRZE JE—F#R 99.36
HRZE 24— LBk 84.62
HRZE A0y hS—T YL A—RAE TR 94.51
HRZE BIINTUOAVEIRIALR 97.16
HRZE FEITINTULAERIER 72.3
HRZE BERK AL yRR—s—) 97.67
#KZE BERK (T aR—I—) 83.31
XEf 97.29
2#74;(%,5% [BX3 99.47
A4 RAREE #l 98.82
A4 RAREE 1 95.95
A74XARESE Uk R 25 (R LAY ) 93.56
A74RAREE O—/\—T«> 3> 100
A4 RAREE aO—kN\UH— 100
A74XARESE B3I T 100
F74RAREE BRIR 64.16
A74XARESE Zix 0
A4 RAREE RO AR— 91.73
OAMEZE aF—# 100
OAMEZR EEH 100
OAMEZR LR HHToRILaE—# EELEL
OAMEZR EFETEH 100
OAKEZS 7° P 98.35
OAHESS TVR/ 770 3) R EELEL
OAHESS 272 90.1
OARESS AE¥v+ 100
OAKEZS HMRTARVEE 98.57
OAHZ TA4ATLA 91.25
OAHZS albyS— 99.75
OAKEZS T3 )L E el 4 100
OAKEZS SEREATAT 88.86
OAKEZS —REMRIT/NMEEE 98.6
OAMEZR BEFRE FEE# 96.39
OAHZ r—H—kJwS 95.02
OARESS A 9h—k v 97.34
OAMEZR HiBFET 93.89
OAKEZS PI=PEVL] 91.48
%ﬁ)ﬁ'ﬂﬁ EHES eSS
BEYE PHS ETTND
%zEJJ%'% AX—R T EELGL
RES M ERABE 80.06
RES M 5 BERAEE 100
RES M 5 ERAEABE 100
RE 5 TLE I  Z{EH 100
%%ﬁé&'ﬂ EE’%EF 100
RES M BEFLUD 100
I7avT4ar—% I7avT43F— 100
I7a T4 3ar—5% HAE—r R TR AEE eSS
I7avT43F— AN—T 84.62
BKERE E—rRUOTRESR B eSS
mKERE AR B KHEES 100
5.|:|:|17Kik§ %-.F /ﬁ/ﬂ]:l.ﬂ(*g%%‘; %%EUL
KR E HAFRIERERS 100
H2ER HKTHEAZRE 88.33
H2ER LEDEGRHAZR & 95.6




KRS 5
HE.’ . FIFIE% =
5 LEDE BTN S Bl —
ik HESL T (BEY: KESORAOBERSY 96.68
e Eggkwvzv 97.76
Eg;g ETCHIGEBia 71{35
HE=s %;ﬁ;tﬁﬁ@—yayyxv_—la 64.69
EEEES zwo»:@“ S 5147
E e IS == et
CET (iR o
E T T 5 1e
ERETR =2 20
ERETR # e
1UT)7 -BEEE h—F =53
(oT)7 BEEE THEJSAUR e
1o7)7 BREEE 2EEISAF 0
ATIUT7-BEEER ’5177_-‘yl~“‘;—f\°“ ~ b
AoT)7 BEER I T 2L
1o7)7 BREEE oA ;
AT )7 - BEEER :—F‘)l//_f‘/?-jj—/\"“ ~ L
(o7)7 BREEE X ) =i
1o7)7 BREEE Sl 00
AoT)7 BEER ~yFIL—L 0
(o7 7 BREEE ZvFL X b
EEF EEF =,
Z O A B ESETUF S
Z D fth Kk i B 5 JIIL——k e
Z DAL S, RIS e
Z Dt S S i 00
Z Dt S S e %0
Z Dt A S = 00
% Dbt A xv7 o
i ABREEL AT L AR EER) T
1 ﬁiﬁﬂ%ﬁﬁyxTA(’A#cﬁéﬁﬁﬁ) ETIAD
5.4 AR R EET
i ExiE Tt
B B REI UL oL
SEE R FRELERE =L
?éiﬁgﬁﬁgn éj:l:/\ JUERELK . 100
RERZRL L7 TR =L
e EIE o T
5 & F E, 00
KERBE RS s L
T EhE A ST
KERERL EEF %
REBEAS TR e
KERERL TL——F EELL
A%}Eté 5 — R %0
Sl PR & R & AR L
KERERL gggggﬁﬂ ST
KERERL FERESE, L
AATh = Jb'l"ﬁ'EEdJE\‘ EfEHL
E INEALAM (R 100




————— W% (B R . 2R, EARTEM) 100
AALs BEABER—F L
LRALIE Ry ES T
&7 = 2 94.09
&5 SLL 100
& ENEEASTEE 99.72
=75 e 89.62
&% dme 100
%7 r;; ?iﬁ 98.17
1§%§ *';% B 97.69
&7 i 98.01
B L L 100
% a*g 23 100
=5 s 100
2% ' . 100
770 2. L AE?EQ:IE%% =~
ferh e s ERLL
%wg AL %91.23
&7 TN T EELL
B ﬁk#;; %g'ﬂﬁ’“*ﬂ‘%“x'— 9615
&35 EIE2E




